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Select the key operational benefits of using Hitachi Universal Replicator for disaster recovery scenarios.
(Choose Two)
Response:

A. Reduced recovery point objectives (RPO)
B. Lower recovery time objectives (RTO)

C. Automated storage tiering

D. Enhanced data deduplication

E. Geo-clustering capabilities

Answer: A,B

Which of the following are primary characteristics of Hitachi Universal Replicator?
(Choose Two)
Response:

A. Asynchronous replication

B. Real-time analytics

C. Journaling of data changes

D. Automatic failover management

E. Supports non-disruptive operations

Answer: A,C

What are significant internal operations of the Hitachi Universal Replicator?
(Choose Two)
Response:

A. Journaling changes before replication
B. Deduplicating data on the target site
C. Coalescing write operations

D. Implementing change vectors

E. Prioritizing 10 based on data type
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Answer: A,C

To monitor the replication process, the administrator must configure using the Command
Control Interface.
Response:

A. horcm files

B. secondary volumes
C. journal groups

D. primary volumes

Answer: A

Consistency of data across multiple volumes is achieved through the configuration of
Response:

A. storage pools

B. consistency groups
C. data checkpoints
D. virtual LUNs

Answer: B

In troubleshooting Hitachi Universal Replicator, which of the following logs would provide valuable
information regarding replication failures?

(Choose Three)

Response:

A. Journal logs

B. System event logs

C. Configuration change logs
D. Security audit logs

E. Performance metrics logs
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Answer: A,B,C

During the replication process, what mechanism does Hitachi Universal Replicator use to handle
network failures?
Response:

A. Automatic resynchronization
B. Write-throttling

C. Delta resync

D. Manual checkpointing

Answer: A

How does Hitachi Ops Center Protector help in monitoring the health and performance of Universal
Replicator operations?
Response:

A. By providing real-time analytics on the GUI dashboard

B. Through automated email alerts only

C. By generating monthly performance reports

D. Using an external monitoring tool integrated into the Ops Center

Answer: A

Which of the following is a key feature of the Hitachi Universal Replicator?
Response:

A. Local continuous replication

B. High-speed data migration

C. Remote replication with consistency groups
D. Synchronous mirroring

Answer: C
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Which CLI commands are essential for troubleshooting when replication does not start as expected in
Hitachi Universal Replicator?

(Choose Two)

Response:

A. horcmchk
B. pairdisplay
C. pairresync
D. paircreate

Answer: A,B
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